A. upemployment rate
n.::maymmaquluﬁiﬁﬂndmﬂmm

C., zero cyclical unemployment
D.Band C

6. The consumption schedule is:

A. an inverse relationship between consumption and the price level

B. a direct relationship between consumption and disposable income

C. an inverse relationship between consumption and saving

D. an inverse relationship between consumption and the tax rate

7. Which of the following might have caused the shift from consumption schedule C; to schedule C;?
A. An increase in disposable income =N
B. An increase in household wealth

C. An increase in household debt

D. An increase in taxes

8. If consumption and disposable income are equal at a particular
]wdurm
. mhmud&m&




25, A restrictive fiscal policy can shift:
A. the AD curve to the right
B. the AD curve to the left
C. the AS curve to the right
D. the AS curve to the left

26. The purchasing power of the dollar;

A. increases with the rate of inflation

B. is inversely related to the price level

C. is directly related to the supply of money

D. is directly related to the price level

27. Writing a check to purchase a new computer is an example of using money primarily as &
A. unit of account

B. standard of value

C. medium of exchange

D. store of value

28. If the current interest rate is below the equilibrium rate:

A. the money supply exceeds the quantity of money demanded

B. the money supply will increase and the interest rate will rise

C. the money supply will decrease and the interest rate will rise

D. the interest rate will rise and the quantity of money demanded will decrease

29. A decrease in the money supply will:

.AmmmmﬂmmdmmtdeDP

: st rates, increasing planned investment and lowering GDP
tes, increasing planned investment and GDP

ites, reducing planned investment and GDP

posits (less than $100,000)
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_ |3. in a closed private economy, if aggregate expenditure is greater than the level of GDP-
A. savings are greater than investment

B. investment is greater than savings

C, savings and investment are equal

0. can be cither Aor B

14. Which of the following can cause a shift in the aggregate demand curve 10 the left?
A. a reduction in the price level

B. a reduction in aggregate supply
C. a decline in personal taxes

D. a decrease in government spending

15. A lefiward shift of the short-run aggregate supply curve would illustrate:
A. a positive GDP gap

B. cost-push inflation

C. demand-pull inflation

D. an inflationary gap

16. The aggregate demand curve slopes downward to the right:

A. because a lower domestic price level reduces net exports

B. because of the income and substitution effects of lower prices

C. at low prices, but not at high prices

- D. because a lower price level reduces the demand for money, which lowers the interest ray
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© PART I/ SHORT ANSWER QUESTIONS
~ Question 1 (6 points)

Complete the following table:
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ease in disposable income
he following statements is TRUE? end o fall in equilibrium level of GDP.
Rrsaain ot s h i e op s COF 2 S0 CECTESSE 8

rnment purchasesq’

tecnlinh e wnh DG
19. Al break-even income:
i orempon = saving hoc = f— Qs
* APC = 1 D,_..

) All of the above

20. As disposable income decreases the APC ___ a4 Aps
A) Falls; falls
B) Falls; rises

C) Rises; rises
Rises; falls
21. Deprecation of domestic currency
A) Make prices of domestic goods equal prices of foreign goods that leads to increase in net exports b g
B) Make foreign goods cheaper (uas i 291 iy than domestic goods that leads to inCrease in net exports

Make domestic goods cheaper than foreign goods that leads to incgease in net exporl%
Deprecation of domestic currency does not affect net exports

* :
22. Consumption is $141 billion, gross investment is $15 billion, and saving is $15 billion in a private closed economy. At

this level: S

A) Leakage is less than injection i\

B). There will be unplanned increases in inventories (change in inventory positive) (9
The economy is in equilibrium : GQQ — 9%,\
Leakage is greater than injection

23. Which of the following will NOT tend to shift the consumption schedule upward?
higher level of household borrows (u il 4S5 ) k N|
The expectation of a recession (255, Sy i84)

)

Interest rate fall
D) Increase in the amount of wealth held by households (! \: aitas 5yl jlikasal))

24. Which event would most likely decrease an economy's net exports?
A) An increase the prosperity of trading pa for this economy (cstadl #1551 6l )
B). A depreciation of a nation's currency
A decline in the tariff ﬁ#_;.plh_,.:])
D) All of the above 3




estment demand curve suggests: ' he level of investment spending.
_ isposable income and the level of In pe
. ; :: : g';g gm;mb !uom'nas!\" ‘,ﬂt:::m: and the level of investment spending. .
(CD There is an inverse relationship (5= 3<) between interest rate and the level of investment spend;ng.
D) There is an inverse relationship between expected rate of return and the level of investment spending.
9. If a lump-sum tax of $60 billion Is levied (=—.) at each level of income and the MPC is 0.90, then consumption:
A) Increase by 54
Increase by 600 N\QC 1T
Decrease by 54 T \{/ C
Decrease by 600

10. If the stock of available capital goods in hand in the ni ; Y AEe s e a0 AL g e SIS
Yl ol e Sma3Y1 i 4%), then the: economy is running too high ( Jsa 4 g I ALl g jaa
A) Consumption schedule will shift upward
B) Consumption schedule will shift downward
Investment demand will shift to the right
@ Investment demand will shift 1o the left

11, Suppose the MPC = 0.75, equilibrium GDP = 900 bijjon, and the govemment decrease taxes by $50 billion.

What is lhesnew equilibrium GDP?
A) GDP = $750 billion
B) GDP = $937.5 billion PLOR = vieT _ne
GDP = $950 billion W=D
\N—

GDP = $1,050 billion

12. In an inflationary expenditure gap, the equilibrium level of GDP is:
Greater than full-employment GDP "
Less than full-employment GDP
C) Less than aggregate expenditures
D) Greater than aggregate expenditures

13. Ip-private open economy, — .

AE = C + 1g + Xn & il
B) AE =C +1Ig + G + Xn gl
C) AE=C+1g+G :
D) AE=C+Ig+G+T e g

14. If the interest rate rises, then

=S



stions that follow. S/t

1 1': | r the que
1. Refer to the information provided in the table below to 3M"° R T
| AE CAED %A
GDP = DI cCHllNlg G [e&x Jmporsi[ At ——
500 520 20 25 15 20 ’_’5@:2,,_
550 550 20 25 15 20 s ap
600 580 20 25 15 == 2'0 __———64‘),‘
650 610 20 25 15 --—""'_20
23 640 S e SmING | 20 @:
750 670 | 20 | 25 | 15 | 20 |
2. Complete the table (Assume that T = 0)
3. What is the break-even income? ...\ M =¢ = EEQ- o
2o = MOY.

4. At$500 level of disposable income, whatis Apcy . ARG~ G 2B
. =

5. What is the equilibrium level of GDP? _5,594;__,,_,,__-..*

6. At 700 level of GDP, what is the value of change in inventory? - #2040 gz

7. At equilibrium GDP what is the value of leakages?

b
I mg‘_.u_m..aL;M+C N LRO-ECIE SN SN (DT
T@&--M}.Laﬁ-ql_,_;hm%ﬂﬁ--# 78 = 5 o

W“h; 650 ”6[
CWt (D-\uoDd Lo W

O invenkeoVy sur Py |

S Up  lavenkory Swiplus
1 oAy

8. Calculate MPC and multiplier?




n, tax (T)is 2 million, and

spending on goods and services (G) 1S $200 millio
0.75.

1,000 million. Assume that the MPC were 0

ew GDP)? Show your work

\-,...L:‘)—l—""""

Wm& / N 22
M W N~ __"1"' " 2

late the effect of each of the following on GDP? (calcula:e n

" Government spending (G) increase to $260 miljon

-

DEOD . My DG o X
; N6z MX go = wzUD. Y.

B. Taxes increase to 300 million.

M2 NOE . 0.0 =\ 03]

DE0 ¢ S BT ©.25




V&ndmﬂlplu(m)mmn _'L \ Q\
The marginal propensity to save decreases SN
! }:mmﬂnwmmu V.J\()} \,{V\%

e e

& GDP =D|

2. What is the amount of autonomous consumption and break-even income?
A) Autonomous consumption = 400, break-even income = 1,200
B) Autonomous consumption = 0, break-even income = 400

onomous consumption = 300, break-even income = 600 O_q
G’ utonomous consumption = 400, break-even income = 800 (2_2‘-1_ FE =T

—
3. Atthe equilibrium GDP, what is the value ofgmssjlnvesunent (Ig)? i“\ — },_,.. SALS
100 - 05
200 ¢ = -

D) 400
4. WhatismovabeofMPCandmu
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1. The exam lasts 1.5 hour.
2. The exam is worth 100 points in total: 50 points for the multiple choice questions (Part A) and 50 points for
three analytical problems (Part B).
3, Write your answers for part A (the multiple choice section) in the blanks below. You won't get credit for
circled answers in the multiple choice section.
4. Place all of your answers for part B in the space provided. You must show your work for part B questions.
Good luck!
; ' B
PART A: Multiple Choice Problems
Answer multiple choice questions in the space provided below. o octme g o
USE CAPITAL LETTERS. . ._w
J : =
1. B e B g
™~ | o
2 | B_ TN




